- USN 18AU36

~ Third Semester B.E. Degree Examination, Aug./Sept. 2020
' Manufacturing Pg'ocfss -1

Time: 3 hrs. & Max. Marks: 100

Note: Answer any FIVE full questions,

“tonsidered while selecting a
process for a given applicatior. N ’ (10 Marks)
. Briefly describe the steps involved in making a casting. (05 Marks)

c. List various types of patterns and explain the match p1ate pattern with a neat sketch.
‘ ' 4 ; (05 Marks)

.50, will be treated as mélpractice.
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(05 Marks)
(10 Marks)
(05 Marks)

b. What are
c. Whata

3 a Explam w1th a neat sketch, the Wi kmg of sand sli (10 Marks)
b. Explain with a neat sketchs . (10 Marks)

sketch. (10 Marks)

%%f
b.- Sketch and ex,pl@n;, the construction an%v&orkmg of Cupolé"“l?urnace with different zones.
. & (10 Marks)

(08 Marks)

o e

A ¢ (12 Marks)
Wt&

Sy

OR
x‘% Acetylene Gas Welding process and mention its
advantages and disadvantages. = (12 Marks)

" b. Explain Forwafa and Backwar({;welﬂmg techniques. (08 Marks)

%uk

&

Module-4

"7 a. Explain with a neat ske ch, the seam welding and list out its advantages and disadvantages.
e (10 Marks)

-b. With a neat sketch,@explam Metal Inert Gas Welding and mention its advantages and
disadvantages. %M% (10 Marks)
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OR
Explain atomic hydrogen welding with a neat sketehdan
disadvantages. 4
With a neat sketch, explain Thermit Welding and

(10 Marks).

4

éthod with a neat sketchs=s (10 Marks) .
cheBrazing with a sketch; . .
(10 Marks) - .-
{ g
With neat sketches, explain Fl ent Penetrant Inspecti’&f‘%g (10 Marks)
Explain Radiography (X-raﬁ%’ (10 Marks)

mention its advantages and .

; on its advantages and disadvantages. . L ‘
. (10 Marks) = ...




